;?jibggiiSO 108 & > jx A ﬁ B N j;;é‘:‘— Fé“’é%\

N
ﬁi B i':; '—’E’ ,f? o
EJ Féfg’:ﬁ!l& D2 pF .
AR OB R TIFEE
() 255 30 A

()7 QYR > (FEERRATAINA § R RBOA R A3 E L o ALY (FEE 0 23 P
([ED*‘#’LB f%ﬁ??*ﬁ’xﬂé‘\ S @fé'y‘ﬂ\@‘?:j’.m‘g

. . . N
T E REAEERAL

O L IynE L Fav § F eI E- BILE
/ﬁE&/}iE’g (I tg QK}@‘P 1,7 BAE S 5 foo + %5 2B f>>B) >

ﬁsa]i' 7 &

n(t) = n, (t) cos(2rf t)—nQ(t)sin(an t)
He )2 n@ABEnt)2 ks sz s $a e
(—H\n(t)aﬂ T B R S(f) - (54)
OFn (1) 2 ny(t) 2 # FHFH R A s ()% §,(f) * (54 )
@Ent) =¥ &7 &
n(t) = r(t) cos(2nf.t + o(t))

H o

1

r(t) =[(n (£))* +(ng (1))?]2
(t)
t) =t Q
o(t) = tan™ { (t)}
For(t) 2 O(t) B 2 $ 5 % A& Sl fo(r) 2 f,(0) - (10 4)

:\&ﬁﬁﬁwﬁ%ﬁﬁﬂ,ﬂﬁﬂ—&?%ﬁ§
S(t) = s, (t) cos(2nft) - SQ(t)sin(an t)

BPg()® sq(t)~ B es(t)Zeip= i i 2 A o :E”“@J NS¢ i

Hue m(t) o 4k 5 A cos(2Aft) -

O (D)= 1e 33 # (AM) ~ (2 F + 3 ¥(DSB) ~ (3)H £+ 4 %(SSB) »
DAFFTARVSB)ESH 2 () A2 270852k
P P S (1) s (t) 2 B f4 0 (10 A)

ORI PARFFARE 0 FEUAR L 2 HE - (104 )



% 3%, : 26880
F= 142

o A Y o B BEAT U - BRERARR AT 2

X(t)= ) ap(t—KT -A)

K=—oo
B0 pM) SRS L2 A a 2R 2 wA T A RAR LR

—_—

-T T
FE 7Ai;/:33 A\#‘}’/:\ —,——iFE'I&O
5 (2 2)
Omm X(t) 2 p LApk SR (1) A7 5

R, (1) = Z R.r(t—mT)

#¢ R, =Elaa.,| 1) =%£‘; p(t+7)p(t)dt - (6~ )

()12 & fic#r 4 #% (Manchester code) 5 61 -

e

1 —%<t<0
p(t) =

T
— O<t<—
. 2

FH S (F) - (74)



£ 5% : 26880
F= :4-3

Eoh- BEACEAPSK A 0 B2 0OMPEE
e

[2E .
= cos(2nf t), =1
Tb
2E
=D cos(2nf t+m), # <0
Tb

HY O<t<T,"E, 5% =~z it & - BEXK

S(t) = -

o(t) = T_ cos(2rnf.t), 0<t<T,
b

Befe B2 2 M B4eT B o W2 e A Aadete 4 B Eien w) o 2T

2 7. v 2 b - N2 v N
BB AR BEA S IRHRAES

R

1<

¥
Jputs

B |y 4ok Y >0,E"1
OOl [t N
yO=s(O+w(t T/ ) ! {ar»-acv <0,"0"
(

t)

=

iR
Tb
n= jo w(t)o(t)dt

FnzHEEm - FBEHKo FHFBAEIET (M) - (64)
OFEX BEREFNEALE B0 8FpF KA =~ PSK 4 5t
2. S P T A2 Q Snlic koot 2

= 1 X
Q(x) = J.X EGXP(—?)C’X (14 2 )



% 5, 1 26880
F= :4-4

T t- B(TARIES HAE Hiam s Bd o 4 S aEd

110100 O]
0110100
1110010
101000 1]

O WbBELTEB - (54)

OFH e H (parity-check matrix ) - (3 4 )

@) & H B ] BB dyin (Minimumdistance) > #2225 H L 3 i 4 o (24)
£ = %% ¢ 7| (error pattern) &2 gk (symdrome) 2§t 4+ - (5 4 )
B UEH T2 THF - (54)




